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<7<5D5=<= (>?D545?5=<=), 0.10 -

3 509447.48 2200261.27 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

4 509463.07 2200299.06 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

5 509464.57 2200302.69 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

6 509460.88 2200304.22 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

7 509459.37 2200300.58 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

8 509443.79 2200262.82 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

9 509442.53 2200263.35 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

1 509440.98 2200259.66 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

5. «�>475<=O= < =4475<=O= 747>?D>6>4 446?5=<5< 4> 0,3 ��4 >F F>G><
?D<E>54<=5=<O > D4E?D545?<F5?L=><G 747>?D>6>4G 4> 7D4=<FO E5F<
747>?>FD55?5=<O ?> 44D5EG: �<657>D>4E>4O >5?., �>7>D>4E><= D-=, 4. �G><=>,
G?. �4D5G=4O, GG. 7 45 � (�-3-1655�/�-�)», =47=4G5=<5: �47>?D>6>4 =<7>>7>
446?5=<O, ?D>FO65==>EFL: 86 <, 44D5E: $>EE<=E>4O $545D4F<O,
�<657>D>4E>4O >5?., �>7>D>4E><= D-=, 4. �G><=>, G?. �4D5G=4O, GG. 7 45 �
(>444EFD>6O= =><5D 52:16:0030202:6292)

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F <
ED54=OO >644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y
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1 2 3 4 5

1 502660.72 2204492.26 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

2 502663.10 2204491.25 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

3 502737.30 2204465.99 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

4 502736.57 2204464.01 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

5 502740.33 2204462.63 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

6 502742.46 2204468.45 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

7 502664.52 2204494.99 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

8 502662.28 2204495.94 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

1 502660.72 2204492.26 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

6. «�>475<=O=, =4475<=O= 747>?D>6>4 446?5=<5< 4> 0,005 ��4 >F F>G><
?D<E>54<=5=<O > D4E?D545?<F5?L=><G 747>?D>6>4G 4> >5N5>F4 ?> 44D5EG:
�<657>D>4E>4O >5?4EFL, �>7>D>4E><= D4=>=, E. �G45=56> G?. ,>EE5==4O, 4.
12. �5N5>F: =56<?>5 744=<5 (�-3-5035�/�-�)», =47=4G5=<5: �47>?D>6>4
=<7>>7> 446?5=<O, ?D>FO65==>EFL: 10 <, 44D5E: $>EE<=E>4O $545D4F<O,
�<657>D>4E>4O >5?4EFL, �>7>D>4E><= D4=>=, E. �G45=56> G?. ,>EE5==4O, 4.
12. �5N5>F: =56<?>5 744=<5 (>444EFD>6O= =><5D 52:24:0020401:3597)

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F <
ED54=OO >644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 514349.21 2185428.33 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

2 514347.18 2185431.78 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

3 514345.17 2185430.60 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

4 514341.45 2185428.46 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

5 514338.46 2185426.75 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

6 514340.45 2185423.28 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

7 514343.44 2185424.99 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

8 514347.18 2185427.14 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

1 514349.21 2185428.33 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -
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7. «�>475<=O= 747>?D>6>4 446?5=<5< 4> 0,3 ��4 >F F>G><
?D<E>54<=5=<O > D4E?D545?<F5?L=><G 747>?D>6>4G 4> 7D4=<FO E5F<
747>?>FD55?5=<O ?> 44D5EG: �<657>D>4E>4O >5?., �>7>D>4E><= D-=, 4.
�GDF56>, G?. �FD44=>5, GG. 239 (�-3-4385�/�-�)», =47=4G5=<5: �47>?D>6>4
=<7>>7> 446?5=<O, ?D>FO65==>EFL: 32 <, 44D5E: $>EE<=E>4O $545D4F<O,
�<657>D>4E>4O >5?., �>7>D>4E><= D-=, 4. �GDF56>, G?. �FD44=>5, GG. 239
(>444EFD>6O= =><5D 52:24:0031104:10731)

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F <
ED54=OO >644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 510384.98 2197862.54 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

2 510382.25 2197858.32 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

3 510380.80 2197855.95 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

4 510404.41 2197840.66 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

5 510407.97 2197846.05 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

6 510404.63 2197848.26 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

7 510403.26 2197846.17 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

8 510386.27 2197857.17 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

9 510388.34 2197860.38 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

1 510384.98 2197862.54 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

8. «�47>?D>6>4-66>4 > 6<?><G 4><G ?> 44D5EG: �<657>D>4E>4O >5?.,
�>7>D>4E><= D-=, 4. �5D57>6>4, G?. �4G=4O, 4. 4 (�-3-0557�/2022/��/��)»,
=47=4G5=<5: �4DG6=O= 747>?D>6>4 =<7>>7> 446?5=<O, ?D>FO65==>EFL: 14 <,
44D5E: $>EE<=E>4O $545D4F<O, �<657>D>4E>4O >5?., �>7>D>4E><= D-=, 4.
�5D57>6>4, G?. �4G=4O, 4.4 (>444EFD>6O= =><5D 52:24:0020702:4087)

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F <
ED54=OO >644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 508679.87 2189042.91 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -
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2 508683.16 2189045.18 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

3 508673.02 2189059.89 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

4 508669.73 2189057.61 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

1 508679.87 2189042.91 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

9. «�47>?D>6>4-66>4 > 6<?><G 4><G ?> 44D5EG: �<657>D>4E>4O >5?4EFL,
�>7>D>4E><= D4=>=, E. �G45=56>, G?. �>64O, 4. 13 � (�-3-
0413�/2022/��/��)», =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O,
?D>FO65==>EFL: 125 <, 44D5E: $>EE<=E>4O $545D4F<O, �<657>D>4E>4O
>5?4EFL, �>7>D>4E><= D4=>=, E. �G45=56>, G?. �>64O, 4. 13 � (>444EFD>6O=
=><5D 52:24:0020401:3593)

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F <
ED54=OO >644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 513768.77 2185812.97 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

2 513771.12 2185816.20 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

3 513768.51 2185818.11 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

4 513765.60 2185819.81 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

5 513762.55 2185821.59 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

6 513732.95 2185813.78 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

7 513708.50 2185787.11 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

8 513701.47 2185781.75 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

9 513682.03 2185752.68 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

10 513678.84 2185754.68 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

11 513676.71 2185751.29 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

12 513679.79 2185749.35 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

13 513679.27 2185748.58 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

14 513682.59 2185746.34 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

15 513684.28 2185748.84 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

16 513704.44 2185778.98 �5F>4 E?GF=<>>6OE 75>457<G5E><E -
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<7<5D5=<= (>?D545?5=<=), 0.10

17 513711.19 2185784.14 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

18 513735.10 2185810.22 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

19 513761.96 2185817.30 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

20 513763.58 2185816.35 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

22 513766.31 2185814.76 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

1 513768.77 2185812.97 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

_______________
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